
ODMOCNINY

1. Vypočítajte:
a) ( ) 2.32 +
b) ( ) 3.32 +
c) ( ) ( )23.23 −+

d) ( ) 2
52 −

e) ( ) 2
52 +

f) ( )2
51 −

g) ( ) 2
12 +

h) ( )35352335 −+−+
i) ( ) ( ) ( )3233234325 −−−−+
j) ( ) ( ) abbabaabaa +−−−+

2. Čiastočne odmocnite:
a) 50
b) 240
c) 315
d) 125
e) 2111427 cba

f) 3 16
g) 3 48
h) 3 250
i) 3 128
j) 3 625

k) 3 3 ya

l) 3 5x
m) 3 464 yx

n) 4 10a

o) 4 81210 zyx

p) 5 5532 yx

q) 3
9

1263

64a
zyx

3. Vypočítajte:

a)
25
16

b) 3
27
8

c)
3
48

d)
3

12

e)
3

3

3
81

f) 3.12.45.5

g) 5:180
h) 3 008,0

i) 5 225 24 : baba

j) 33
2

:
3 c

ab
c
ba

k) 3
2

2
3

2 25
9:

3
5

ba
cd

c
ab

l)
5

153 3 abab

m) 3 22
n) 3 23 aa

o) 43 xxx

p)
12

43

3
333

q) 3 24 : mm

r)
a
b

b
a .

s) 5 9355 32 ... zxzyyx

t)
32

3

ba
ba

u)
5 24

5 79

yx

yx

4. Upravte a vypočítajte (odmocnite):
a) ( )35 25

b) ( ) 24 9

c) ( )83 5

d) ( )36 4

e) ( )4
5 3a

f) 55

g) 3 2

h) 4 3 4a

i) 8 5 16x

j) 3 125

k) 4 3 42 aa

l) xxx

m) 3 24 aaa

n) 3 4 2

o) 3

b
a

b
a

p)
ab
ba3 2
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5. Usmernite zlomky:

a)
3

3

b)
52

5

c)
53

6

d) 3 4
4

e) 4 10
2

f) 3 265

6

g)
bc
ab

h)
ab
ba 2

i)
31

1
+

j)
35

1
+

k)
15

1
−

l) yx +
1

m)
32

1
+

n)
1215

6
−

o)
21
21

−
+

p)
13
13

+
−

q)
321
31

−
+

r)
ba
ba

−
+

6. Vypočítajte:

a)
3

33 23 2 13124
x

x
x

xxxxx +−+

b) yyxyyx :: 63 323 1 +−

c)
8 5

42
4

3

63.
2

2.
2 a

aaa

d)
14

4:
2
2.

2
2 2

−
−







−

+
+







+

−
−

a
aa

aa
aaa

aa
aa

e)
2

4:
4

4

4

4 2

2

2

2

2 aa
aaa
aaa

aaa
aaa −












−+

−−−
−−

−+

f) ( ) ( )
2

3
2

23
2

2 111111

−













−−+++
u

u
u

u

g)
4

..
22 dcd

dcdc
dcdc

dcdc
dcdc −








−−+
−++−

−++
−−+

h) 11

11

22

22
−−

−−






 ++




 +






 ++




 +

ab
abb

ab
aba

ba
bab

ab
ba
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